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QUESTION 1

Which three objects represent qualifications from a local data provider?
A. BLOB

B. DATE

C. TEXT

D. NUMBER

Correct Answer: BCD

QUESTION 2

Which method should you use to view alerts in a report?
A. Open "Query View"

B. Click Tools > Alerters and select "View Alerters"

C. Right-click anywhere in the report, select "Alerters"

D. Select a block; on the toolbar, click the "Alerters" button

Correct Answer: D

QUESTION 3

You need to create a report displaying a year-to-date aggregation on sales revenue across all months. The report
should be sectioned on Region. Additionally, you would like to reset the running aggregation to restart for each Region.

Which syntax should you use to accomplish this task?
A. =RunningSum([Sales Revenue], Region)

B. =RunningTotal([Sales Revenue], Region)

C. =RunningSum([Sales Revenue] ; ([Region]))

D. =RunningTotal([Sales Revenue], Reset[Region])

Correct Answer: C

QUESTION 4
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Which statement is true about calculation contexts?

A. They allow manipulation of reports to change the way the data is displayed.

B. They allow manipulation of variables to change the way the data is aggregated.

C. They allow manipulation of universe objects to change the way the data is displayed.

D. They allow manipulation of universe contexts to change the way the data is aggregated.

Correct Answer: B

QUESTION 5

Where should you configure the regional settings of a Web Intelligence document (WID) within InfoView?
A. Local Settings

B. Browser Preferences

C. User Machine Settings

D. InfoView Preferences

Correct Answer: D
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